Midterm exam

Note: You may use the textbook (Radford 2004) and your class notes on this

midterm exam.

] 10 points

Please answer the following comprehension questions
\/(;1) What is the grammatical category of table in the following sentence
and how do we know?

(1) Karen voted to table the discussion.

‘\/(b) Based on the following data alone, what differentiates English and

German, other than the identity of the words? (Hint: The heads are
underlined.)

(2) a. ...[that [ Fritz [ should [ have [ eaten schnitzel ]
b. ... [ dass [ Fritz [ Schnitzel gegessen ] haben ] soll ]
that  Fritz  schnitzel eaten have should

‘that Fritz should have eaten schnitzel’
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\%c) What is the distributional difference between PRO and pro? (Hint:
Pro-drop languages also have PRO, so the difference is not between pro-

drop and non-pro-drop languages.) Your answer does not need to be
longer than one sentence.

Vl,o ‘() L\seg a5 i '! @ ' ]‘\!l ’ \/\[7‘/ (4P or U’;\‘i 10 ¢

'P\O ) on dw— other “-"“J APy S ) ) ‘,,,1-[(/'5:

I

\é) Please list all of the constituents in the following structure:

(3) TP

= S

DP T

. N

Dt s - s ey

%] Elvis vill /\ .

y 3. &2k 2 0P "o ]
© D}U l) (1'1")6‘\\‘615')\( 5, [/ / [
2 \JP X i’l« b Sim A ‘/,-lf\,, o s
VTP g s ill ha g smilador

\/&T ”,l llé\ J M L l/\)/
e) Please also list all of the c-command relations in the above structure

in (3).
\ /
m{'o&; (mimang S akakor Uml Vice v ;
€ L i [ ) )
I,‘O\ & -(Ommmc‘g Its  Siter DP/ J ang [ :\?*[\!L’Of,

The Dl4 lémé'\&atorl C—(d‘”‘*-‘ﬂjs ‘L\m’

The \/P L

VI ¢ mnd 1 S0

a éw\;\\u\}‘w L ¢ - (omvaandg "\(7”
/(‘15 and 'srwo\’\?«wl'w'l

e T Wl b SW‘ALQI,W”[_,,.,.,_,\.‘A,.T;j ts tster DP r%lag‘e‘z\%)fa
The P Elas" cecommd 15 Sier Tebae " 'ha b o ! .

[ i /
<[7 ' ~(uw.\Js oo and Vit vrin
(ffff sde)
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Please indicate what principle or condition is violated by each of the following
structures:
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Please show the step-by-step derivation for the following sentence in' (8), in-
cluding all of the null constituents and ‘bullet’ selection features. Justify each

constituent that you posit with a constituency test (e.g. coordination, substitu-
tion).

(8) The cat likes lasagna.
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Please show the final structure for the following sentence in (9). You do not
need to represent the selection features, provide constituency tests, or show each
derivational step. You may treat out of as a single complex P head.

(9) Georgia’s friend thinks that you should stay out-of the forest.
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Recall that nonfinite clauses may be TPs or CPs, depending on the context in which
they occur. Consider the nonfinite clausal complement of expect, as in (10). How
can we determine the status of the bracketed infinitival clause? Give a sentence(s)
that would test for whether it is a TP or a CP.

(10) Maria expects [ Alex to win the race ].
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Hindi-Urdu has two words indicating possession that correspond to English his/her:
apnaa and uskaa. These two words have different distributions from one another,
as shown in (11). Explain how the binding conditions explain the distribution of
apnaa and uskaa in Hindi-Urdu. (Note that the different forms of these words

in (11) are because they agree in gender with kitaab ‘book’; this is not relevant for
the problem.)

@1 wez] raam{-ne, [[ aplziill,,z kitaab | parh-ii 171 5 /b1, /)
Ram-ERrG APNAA  book read-pPFv
‘Ram read his book’
|
b. [ raam-ney [ [ uskii,, kitaab | parh-ii ] 19 tn C‘lf'('ﬁh 5
Ram-ErG USKAA  book  read-prv
‘Ram read his book’
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